
DAV MUKHYAMANTRI PUBLIC SCHOOL KANSABEL, JASHPUR (C.G.) 

                                HOLIDAY HOME WORK 

    CLASS – V.                                                SUBJECT – MATHS. 

TICK THE CORRECT OPTION: 

Q1.Which of the following is not a symbol to write Roman numerals? 

          a) D.          b) V       C) M       d) N 

Q2. Which of the following is the Roman numeral for the number 2765? 

      a)MMDCCXLV       b)MMDCXLXV    c) MMDCCLXV.    d)MMCDCLXV 

Q3. Which of the following options is written in the ascending order? 

        a)XCVII > XCCIV > DCCLXVIII > MDCLXII 

        b)MDCLXII > DCCLXVIII > XCCIV > XCVII 

        c)MDCLXII < DCCLXVIII < XCCIV < XCVII 

        d) XCVII < XCCIV < DCCLXVIII < MDCLXII 

Q4. Which of the following symbols can be subtracted from V and X? 

         a)D           b) C              c) I            d) L 

Q5. 3,00,000 ÷ ________ = 300 

        a) 1000            b) 3000             c) 100           d) 10,000 

Q6.The difference between the predecessor and the successor of one million is _____ 

       a) 1            b) 2            c) 1,000,000          d) 1,000,001 

Q7.What should be subtracted from the greatest 7 digit number to get 65,43,210 ? 

      a) 12,34,567       b) 99,99,999          c) 12,34,560        d) 34,56,789 

Q8.  10,00,00,000 – 100 = ___________ 

       a) 99,99,99,900      b) 9,99,99,900      c) 1,00,00,900      d) 10,00,00,900 

Q9. (321 X 9) - ______ = 2,888 

       a) 1             b) 0         c) 2       d) 3 

Q10.  111 X 111 = _________ 

         a) 1,11,111     b) 12,312      c) 12,321      d) 12,121 

Q11.  To get a quotient of 700 and a remainder 48 what number should be divided by 100? 

         a) 748             b) 70,048      c) 70,000       d) 7,048 



Q12. The largest 9 digit number ending with 7 is 

         a) 77,77,77,777       b) 10,00,00,007       c) 99,99,99,999      d) 99,99,99,997 

Q13. 25 lakhs + 6 thousands + 4 tens = _________ 

       a) 25,06,040      b) 2,56,00             C)2,56,040     d)20,56,040 

Q14. Ones, tens and hundreds are grouped in which period. 

        a) Ones         b) Hundreds.        c) Thousands.     d) Millions 

Q15. 8,73,22,104 + 0=____________. 

         a) 87,32,214.          b) 0               c ) 8,73,22,104       d ) 87,21,040 

Q16. What number is 6 less than the sum of 121 and 19? ______ 

           a) 121          b) 134        c) 136       d) 146 

Q17.  Difference of 143,000 and 0 is __________. 

            a) 0.       b) 1,34,000       c)143,000       d) 14,300 

Q18. What is the successor of XXXIX? 

           a) 39.         b) XL            c) 40         d) Both b and c 

Q19. The difference of 3944 and 1412 when rounded off to the nearest thousand is ________. 

           a) 2000          b) 3000       c)2532      d) 5356 

Q20. Radius of a circle is of its diameter. 

            a) 1/2     b) 1/3      c) 1/4     d) 1/6 

Q21.  81.4 dm = _______ m 

           a) 8.14    b) 814      c) 81.4      d) 0.814 

Q22.  The perimeter of a square is _____ x length of any of its sides. 

           a) 2       b) 3         c) 4      d) 5 

Q23.  2¼ hours = ________ minutes 

           a) 135    b) 130     c) 120     d)125 

Q24.  We make a profit when the selling price is ________ than the cost price. 

            a) more     b) less     c) equal     d) same 

Q25.  The point “O” in the middle of a circle is called __________ 

           a) Diameter      b) chord     c) radius     d) centre 

Q26. The sum of the angles of a triangle is always equal to ____________ 



           a) 90      b) 180     c) 360      d) 120 
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Q.I – TICK ( √ )  THE CORRECT OPTION :- 

1.  The real strength of a family are-  

 (a)Traditions  (b) Jealousy  (c)Love and care  (d)Hatred 

2. A type of family that includes only parents and their children is a – 

 (a) Joint family  (b) Extended family  (c)Nuclear family  (d)Community 

3. The first learning place for a child is :-  

 (a) School  (b) Family  (c) Neighbourhood  (d) Country 

4. Every person has a – 

 (a) Joint family  (b) Talent  (c)Nuclear family  (d) Both a and b 

5.  In family, Interaction develops- 

 (a) Customs  (b) Strong bonds  (c)Hatred  (d) Traditionds 

6. The most important group of human beings is – 

 (a) Country  (b) Union  (c)Family (d) Organisation 

7. Responsibilities of children towards their family members are- 

 (a) Help the elders in times of need 

 (b) Follow the family values and traditions  

 (c) Share joys and sorrow  (d) All the above 

8. Baisakhi is famous festival of – 

 (a) Hindu  (b) Muslim   (c) Sikh  (d) Jainism 



9. To develop close bonds among family members we must share- 

 (a) Love and affection  (b) Jealousy   (c) Hatred  (d) Talent 

10. Migration is the regular movement of …………….. from one place to another. 

 (a) People   (b) Animals and birds (c) Technology  (d) Both A and B 

11. Which of the following is not a Rural occupation – 

 (a) Agriculture  (b) Blacksmith  (c) Potter  (d) Work in factories 

12. When people move to other place on their own choice is known as – 

 (a)Forced migration   (b) Voluntary migration   

(c)Seasonal migration   (d) Both (a)and (b) 

13. Growing crops on a new piece of land once the fertility gets exhausted is-  

 (a) Seasonal agriculture  (b) Shifting agriculture  

(c) Commercial agriculture (d) Plantation. 

14. The settled life began only when the man became- 

 (a) Hunter  (b) Food gathering  (c) Food Producer   (d) Both a and b. 

15. People were scared to travel abroad in olden times due to- 

 (a) Myths (b) Lack of Money (c) Lack of transportation (d) Lack of communication. 

16. What is migration due to natural disaster known as- 

 (a) Forced migration  (b) Voluntary Migration  

(c) Seasonal migration   (d) Nomads. 

17. The labourers move to cities for- 

 (a) Education  (b) For enjoyment  (c) For jobs and better wages  

 (d) For Permanent settlement. 

18.  Flat roof houses are found in regions of :- 

 (a) High temperature (b) Low temperature (c) Polar region (d) Hilly region 



19. To motivate the younger members of excel, family should :- 

(a) Encourage   (b) Appreciate  (c)Love and care  (d) All above 

20. What is the capital of Punjab- 

 (a) Shrinagar (b) Delhi   (c) Chandigarh   (d)Patna  

21. Agra city located in which state – 

 (a) Punjab  (b) Uttarpradesh  (c) Gujrat   (d) Karnataka 

22. India is located in which continents –  

 (a) Australia   (b) North America  (c) Asia  (d) Africa 

23. In hilly areas houses are built with – 

 (a) Flat roofs  (b) Sloping roofs   (c) Rocks  (d) Over the surface. 

24. Material required for making house are – 

 (a) Cement   (b) Bricks   (c)Wood   (d)All the above  

25. Hardships that the migrants face are – 

 (a) Shelter   (b) Water   (c) Sanitation  (d) All the above . 

Q.II-  PROJECT WORK :-  

 1. Make a model of the earth – Globe. 

   OR 

 Model on “Things we get from plants”. 
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### Tick for the correct option. 

 Q.1:- Oxygen ( ) is mixed in blood in which part of the breathing system ? 

(a) Nose (b) Windpipe  (c) Lungs (d) Diapharm 

Q.2:- Optic nerve is present in which sense organ ? 

(a) Eye (b) Ear (c) Nose (d) Skin 

Q.3:- Which is the longest bone in the body ? 

(a) Vertelara   (b) Femur (c) Humerus (d) Radio-Ulna. 

Q.4:- Image is formed in which part of the eyes ? 

(a) Cornea (b) Iris (c) Eupil (d) Retina 

Q.5:- How many bones are present in the middle ear ? 

(a) One (b) Two (c) Three (d) Four 

Q.6:- Plants get Carbon Dioxide from which source ? 

(a) Soil (b) Air (c) Roots (d) Leaves 

Q.7:- Which of the following is usually made by plants during the photosynthesis ? 

(a) Carbohydrate (b) Protein (c) Fat (d) Vitamin 

Q.8:- Which of the following plants grows through the underground stem ? 

(a) Wheat (b) Pea(c) Potato (d) Sweet Potato 

Q.9:- Which of the following plants grows through the roots ? 

(a) Ginger (b) Sugercone (c) Bryophyllum (d) Dahlia 

Q.10:- Seeds of which plants is dispersed by wind ? 

(a) Madar (b) Coconut (c) Mango (d) Watermelon 

Q.11:- The leaf used to make disposable plants is the 

(a) Tendu leaf (b) Areca nut leaf (c) Amla leaf (d) Brahmi leaf 

Q.12:- Deforestation results in 

(a) Soil erosion (b)flood (c) low rainfall (d) all of the above 



Q.13:- Bee wax is used to make 

(a) Spices (b) Varnish (c) Medicine (d) adhesive 

Q.14:- Which of the following is not a forest product ? 

(a) Gum (b)Timber (c)Aswagandha (d) Kerosene 

Q.15:- If forests disappear , the amount of 

(a) Carbon Dioxide, in air, will decrease (b) Oxygen , in air, will increase 

    (c) Carbon Dioxide, in air, will increase (d) Nitrogen, in air, will increase 

 

Q.16:- Which forest product is used for making paper ? 

(a) Wood (c) Gum (c) Resin

 (d)Tendu Q.17:- What is the use of gum ? 

(a) As dye (b) As medicine (c) As adhesive (d) As ornament 

Q.18:- Which plant is used for making baskets, boats, bridges, buckets , fishing rod, 

musical instruments, etc. ? 

(a) Banyan (b) Areca nut  (c) Tendu (d) Bamboo 

Q.19:- Leaves of which plant are also called green gold in Odisha ? 

(a) Tendu (b) Bamboo (c) Eucalyptus (d) Banana 

Q.20:- The forest Conservation Act was passed in 

which year ? (a) 1970 (b) 1980 (c) 1990

 (d) 2000 

Q.21:- About 97 % of water is present in 

(a) Seas and Oceans   (b) Lakes (c) Ponds (d) Glaciers 

Q.22:- Plants absorb water from the soil with the help of 

(a) Stem (b) Leaves (c) Branches (d) Roots 

Q.23:- A rehat is used for 

(a) Supplying water through taps. 

(b) Purifying river water 

(c) Drawing out groundwater for irrigation 

(d) Absorbing water from the soil 



Q.24:- An example of an amphibious animal 

(a) Fish (b) Frog (c) Hydrilla (d) Duckweed 

Q.25:- A natural insect repellant, found in our kitchens, is 

(a) Salt (b) Sugar (c) Turmeric powder (d) Wheat flour 

Q.26:- Dry foods, like cereats and nuts, are preserved by 

(a) Adding salt and suger (b) Vacum packing 

(c) Dehydration (d) Pasteurisation 

Q.27:-  Fruits and Vegetables get ripened due to the action of 

(a) Enzymes (b) Bacteria (c) Fungi (d) Insects 

Q.28:- Which of the following is a communicable disease? 

(a) Beri-Beri (b) Rickets (c) Dengue (d) Scurvy 

Q.29:- Which of the following disease spread through air ? 

(a) Flu (b) Malaria (c) Dengue (d) Jaundice 

Q.30:- Which of the following spreads through food and water ? 

(a) Common cold (b) Flu  (c) Dengue  (d) Jaundic 

 

--------------------------------------------------BEST OF LUCK----------------------------------------------------- 

 

PUSHPA PATEL 
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{ABSTRACT NOUNS} 

➢ Direction- Fill in the blanks with the correct Abstract 

nouns given below :  

1. I would be full of ……………… if I failed in English. 

o Joy 

o Sorrow 

o Satisfaction 

o Surprise 

2. My face turns red and I grind my teeth when I’m in 

…………….... 

o Secret 

o Attention 

o Anger 

o Satisfaction 

3. I would raise my eyebrow in …………… if I heard something 

strange. 

o Surprise 

o Joy 

o Sorrow 

o Secret 

4. My face is relaxed and beams with joy when I want to 

show.  

o Secret 



o Satisfaction 

o Anger 

o Surprise 

5. I would be wanting to keep a …………. If I whispered 

something.  

o Satisfaction 

o Anger 

o Secret 

o Sorrow 

{DETERMINERS} 

➢ Direction – Tick(√) the correct determiners put the given 

exercise:  

6. Neha is not eating …………… cake. She is on a diet.  

o Some   

o many  

o any 

o Few 

7. Did you participate in  …………….. competition as a 

participant? 

o Next 

o  last  

o Any 

o Many 

8. Have you got …………. Money. 

o Little  

o many  



o some 

o Enough 

9. I have got a stomach ache! I was thirsty and drank 

…………………… bottles of coke. 

o Too much 

o Too many 

o Any 

o Some 

10. ………………… Elephants are there In the zoo?  

o How much 

o How many 

o How 

o Any 

{COMPARISON} 

➢ Direction: choose the correct option and fill in the blanks 

with the comparative adjectives of the word given in the 

bracket : 

11. Ram is …………………. Rita. (Tall) 

o Taller than 

o Tallest than 

o Taller 

o Tall 

12. Sarita is ……………….. her sister. (Young) 

o Young 

o Younger 

o Younger than 



o Youngest 

13. Mangoes are ……………. Apples . (Cheap) 

o Cheapest than 

o Cheaper 

o Cheaper than 

o Cheap 

 

{HELPING/AUXILIARY VERBS} 

➢ Direction : Fill in the blanks choosing one of the correct 

word given below : 

14. My parents ……………. Going to a party. 

o Is 

o Was 

o Are 

15. My sister…………… not like dogs. 

o Do 

o Did 

o Does 

16. I…………….done my work. 

o Have 

o Has 

o Had 

17. The children …………….. making a noise. 

o Is 

o Was 

o Were 



{PREPARATION} 

➢ Direction - fill in the blanks with appropriate prepositions 

: 

18.  My grandfather is always complaining ………… the 

pain in his leg. 

o For 

o In 

o Of 

o On 

19. They are going ……….. work early today. 

o To 

o With 

o For 

o By 

20. The crow is peeping ………..the jar. 

o In 

o On 

o Into 

o Under 

21. I was angry ………….. my brother for spoiling my 

project. 

o By 

o For 

o With 

o To 

22. A small child depends ……………. His mother for food. 

o Upto 



o Upon 

o Under 

o Into 

23. He is worried …………….. his result. 

o For 

o Of 

o By 

o About 

24. Distribute these sample papers ……………… the 

students.  

o Among 

o Between 

o Into 

o On 

25. I am waiting ……………… The postman. 

o Of 

o To 

o For 

o By 

 

 

********______________******** 

 



           DAV MUKHYAMANTRI PUBLIC SCHOOL, KANSABEL, JASHPUR (C.G.) 

                                             ग्रीष्मकालीन गहृकार्य 

    कक्षा:- पााँचवी                                                         ववषर्:- हहिंदी                                                 

प्रश्न 1. हदए गए प्रश्नों के उत्तर ववकल्प में से चुनकर ललखिए- 

1. घर का पर्ायर्वाची शब्द नहीिं है- 

क) मकान    ख) गहृ     ग) कानन    घ) भवन 

 

2. नई का ववलोम शब्द है- 

क) पुरानी    ख) कुरुप    ग) धूप      घ) शुष्क 

 

3. गखित के सवाल हल करना -------  िीर है। 
क) बढ़ी      ख) गाढ़ी    ग) टेढ़ी      घ) टेड़ी 

 

4. --------- सदा कीचड़ में ही खिलता है। 

क) गेंदा      ख) फूल     ग) गुलाब    घ) कमल 

 

5. बिल्ली सारा दधू पी गई। कौन सा काल है। 

क) भूत काल       ख) भववष्य काल  

ग) वततमान काल    घ) इनमे से कोई नहीीं 

6. जो ईश्वर में ववश्वास रिता हो। 

क) आस्ततक   ख) नास्ततक  ग) पींडित    घ) पुजारी 
 

7. ननम्न में से कौन सही है। 
क) सध्या      ख) सींध्या    ग) सन्धया  घ) सधया 

 

8. काल ककतने प्रकार के होते है। 

क) चार       ख) पााँच      ग) तीन     घ) दो 
 

9. सिंज्ञा ककतने प्रकार के होते है। 

क) तीन       ख) छः       ग) चार     घ) पााँच 

 

10. ककसी व्र्क्तत, वस्तु, स्थान, जानत र्ा भाव आहद के नाम को ------- कहते हैं। 
क) सवतनाम    ख) सींज्ञा      ग) कारक   घ) ववशेषण    

 



11. ननम्न में से कौन सही है। 
क) नम्रता     ख) अींगेज     ग) पाप्त   घ) पकार 

 

12. ‘भगवान’ का पर्ायर्वाची शब्द है। 
क) धरा       ख) चींद्रमा     ग) ईश्वर   घ) तमन 

 

13. ‘असफल’ शब्द में उपसगय है। 
क) सफल      ख) अ       ग) अस    घ) फल 

 

14. इनमें से सवयनाम है। 

क) सपना     ख)  खट्टा    ग) वे      घ) राज्य 

 

15. क्जसको भर् ना हो- 
क) ननभतय     ख) बहुमुल्य   ग) कमजोर  घ)जमीींदार 

 

16. शािंत का ववलोम शब्द है। 

क) शाींनत      ख) अशाींनत    ग) अशाींत   घ) शोर  

 

17. क्जस सिंज्ञा शब्द से ककसी द्रव्र् का िोध हो उसे ------- कहते हैं। 
क) जानतवाचक सींज्ञा    ख) भावाचक सींज्ञा 

ग)व्यस्ततवाचक सींज्ञा     घ) द्रव्यवाचक सींज्ञा 

18. ‘चचत्रकार’ में प्रत्र्र् शब्द है। 

क) चचत्र       ख) कार      ग) चच      घ) र 

 

19. ‘हृदर् पर सााँप लोटना’ मुहावरे का अथय है- 

क) नाराज होना    ख) बहुत तेज दौड़ना  

           ग)जलन होना।     घ) िर जाना 

20. जो गहने िनाए- 

क) सुनार     ख) लोहार      ग) दरजी    घ) बढ़ई 

 

21. कहानी का िहुवचन रूप है- 

क) कहानीयााँ   ख) कहाननयाीं  ग) कहाननयों घ) कहाननयााँ 
 

22. क्जसकी ववशेषता िताई जाती है उसे -------- कहते हैं। 
क) ववशेषण    ख) ववशेष्य   ग) उपसगत   घ) ववशेष 

 



23. इनमें से भाववाचक सिंज्ञा है। 
क) मीठा      ख) लड़का    ग) दकुान    घ) चींद्रमा 

 

24. मैं अभी पढ़ रही हूाँ। कौन सा काल है- 

क) भववष्य काल    ख) वततमान काल  

ग) भूत काल       घ) इनमें से कोई नहीीं 
 

25. गार् घााँस चिा रही थी। में किर्ा शब्द है-  

क) गाय      ख) घास       ग) थी      घ) चबा 
 

प्रश्न 2. तीन हदन की छुट्टी हेतु अपने प्रधानाचार्य को एक आवेदन पत्र ललखिए- 

प्रश्न 3. अपने वप्रर् त्र्ोहार पर एक ननििंध ललखिए- (100-150 शब्दों में) 

प्रश्न 4. ‘Lockdown’ में आपने तर्ा ककर्ा र्ह िताते हुए अपने लमत्र को पत्र ललखिए- 

 

PROJECT WORK- 

प्रश्न 5. 1) ‘चिंद्र ग्रहि’ कैसे लगता है? ललिकर उसका चचत्र िनाइए- 

       2) िताइए इस हदन चााँद की क्स्थनत कैसी होती है? 

          क) पुखियमा     ि) अमावस्र्ा 

       3) भारतीर् कैलैंडर को देिकर ललखिए की इन नतचथर्ों को कौन- कौन से त्र्ोहार होते हैं? 

          क) पूखियमा      ि) अमावस्र्ा 
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